On R, let wk denote a k-form. Then

T (dwo) = grad (To(w),
T (dw,) = curl (T (w),
Ta(dwz) = diV (Tz {w,))

T(w)=w

If w=fixyadc+ hocy2)dy+ £, (xy.2)dz, then Tlw)= (.4 4,)

I w=fiby 2)dxAdy +f(xy, 2) dx Adz +Fs (x.q, 2 dyAdz., then Tulw)=(fs.-f.f)
B e Foey. 2 dx AdyAdz, then & (w)= flxy.2)

We= f(XHZ)

dw,= i‘c— dx + Eﬁdg + id?

T dwo- (3, & 4L

To (wo) = floy,2)

gl‘(ld ( TO(\”o)) = (f;h:‘ %g_: %g)

.= £ (xy, 22dx+ fboy. 2)dy + 5 (xy,2) d2
dw'=(ai’-i)dxAd5 (:J_Ti éi)dx/\dz-t- (i_ f]dy'\dz

w2y -(2h o2ty (%o 2h)

T(w)= (f.£., £)
curk (T (w)= ((i Sy ), (3 )

02= filk.y. 2)dxAdy +Fi (xy. 2) dx Adz + fz (x.y, 2) dyndz
dw. = (fl’fx*fs) dx Ady A dz

T dwa) = fi- .41,

T wa) = (k.- §i)

div(Tlw) = f =+ §,



